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1.

In Active remote sensing

Uf An Internal Energy Source is used

(B)
©
(D)
(E)

An External Energy Source is used
Continuous emission of Energy is used
Continuous receiving of radiation is done

Answer not known

G‘r_blﬂcm_ Gsree 2 iy

(A)
(B)
©
(D)
(E)

26T HHOD LweTLRSsIS

Gouall Y pméd LwETLESHU®S

Qgm_réfluns gHpae CeusllBeg @émrras
Qgr_iipgl sieisfenear Qupg QsmeTeugmed
e QgfMweldena

Apex distance is calculated from the relation of

YKY R[séc %—1] | | (B R-[.-l—cos%]

(©

2R sin 9/ | | (D)Rrsec%-i-l]

(E) Answer not known

2.6& G @euauny semsd_LLGEpg

A)

(©)
(E)

R [sec % - 1] B) R Tl —~Cos %}

2R sin % | D) R rsec % + 1]

e QzAwaldena
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3.  If intersection angle of a simple circular curve is 120° then thé deflection
angle being

V.
B)
©
D)
(E)

60°
240°
300°
360°
Answer not known

R FTSTTET aul Lagedlerar euamareilen Gmné@ Gamenid 120° eraflév Sis@ieanLw
Mwss Careanrd Y ag

(A)
(B)
©
D)
(E)

60°

240°

300°

360°

MerL GzsfMweldeme

4.  Find the Additive Constant of Tachometer if f =0.2 m and d=0.1m

(A)

©
D)

(E)

0.2m
0.3m
0.1m
0.4m
Answer not known .

f=0.2 8, d=0.1 8CLgms QHEGD P Coug erelllan Gsisens wrhedlenws
sasE (s :

(A)
(B)
©
(D)
(E)

0.2 .8
0.3 &
0.18
0.4 8
e Azflweildame
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5.  In hilly terrain, the most suitable method of contouring is

(A) direct method
(B) square method

(C) cross sections method

(ﬂy tacheometric method
(E) Answer not known

weoUlrGsssdler Qurgeuns LwETURSSLILGHLLD FOGTEUM] (LPEODWITETS) -

(A) Gy o

(B sz pperp

©) epss Qaulh pop
D) soCGeus samallwed W
(E) e Qsfueldame

6.  Closed contours, with higher value inside, it represents a
Wi Hill
(B) Depression
(C) Plain surface
(D) Clff .
(E) Answer not known
| @@ epLLiulL &meirreumq@a;rr@a;aﬂsb <fe wHuy CsmamL swereuany GCsmbHser
‘2 6TU&ESD @ mLnian Sigman
(A) ovew
B) uérard
(O Qeupgy Cupugiiy
D) @
(E) e Osflueldame
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7.  The multiple constant of a Tacheometer is

w5 1]  ® [+
© [—’;-+d] ) [§+ i]

(E) Answer not known

&poCaus erellenr QUBHEEGS Csmans wrHed -
@ [£/] ®B) [f+d]

©) [Qd] | D) |:£+i]

l

(BE) Mo Qgfweldeame

8. In order to determine the natural features such as valleys, rivers, lakes
etc., the surveying preferred is
A) City surveying
(B) Location surveying
(C) Cadastral surveying
M Topographical surveying
(E) Answer not known
LTINS, <UM&EET, GoThiger Cumempareusatien @uiHens iewlieny ST Hujb
Hle jemeneu (pappwIrans ‘
A) psr sereeu
B) <@wuGC SeTeey
C) wiHp eTaeu
D) P Qmwuq SleTEnal
(E) e Qsfwueloame
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(A)
(B)
©
“
(E)

/

In geodetic surveying, the earth surface is taken as

flat
mean
plane
spherical

Answer not known

yellgmi guiefler pb yblulfler ugliumeng

&Y
(B)
(©)
(D)
(E)

SLeLwmearng

gyrafl

&FLDGETLD

Camar auig6liled
aﬁlém__ Qg,lﬂu.léﬁlcbmcu

10.  Number of links in a 30 m metric chain is

(A)

100

G 150

©)
(D)
(E)

180
200

Answer not known

G 30 8 metric chaineé e erar QuEs @IS

@)
B)

©)

(D)
(E)

100
150

180

200
clenL QgMwelldenaw
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11. Detention period of lagooning is

m One to two months
(B) One year

(C) 6 months

(D) 3to 6 months

(E) Answer not known

vamafh SHLILY ST

A) g @gc'o @ e Wrghiser
B) 8o uLd

(C) 6 wrsrser

D) 3 wpse 6 wrsmsET

(E) &eL Qsfusiomame

12. The soil bacteria attack on sewage applied on land and convert the
contents of sewage into plant food called as
(A) Physical action
(B) Chemical action
(C) Bio-chemical action
¢$ Biological action
(E) Answer not known
wawerflen LTy flwur flosHed umibs ‘a;%@m Beors s1edl sfley fhe 2 eTeteupenm
seuy 2 ameuns WMHHLD QFLUSHETET (LPEOD
(A) Querds cleven
B) Cadfulwe Meer
©) o Gmﬁuﬁlu_lsi) eNlenesr
(D) auSlrﬂ_u_:cii elener
(E) ofe QsAwelcrana

CESCE/2023 : 8 =



14.

m

A)
B
©

R

(E)

13. An egg-shaped cross-section of a sewer

is economical than circular cross section

is more stable than circular cross section

1s not economical than circular cross section
provides self cleaning velocity in dry weather

Answer not known

S sTEsL16r WL age GnEE Qeul @)

(A)

- (B

(&)
(D)

(®)

ULl @N&EG el efl_ fssarorarg, |

alL GmES Gaul () ugdHow AL Howwurearg

L GN&ESG Aol O uGgHow L Assarorarg éld;GD
UPEITL &TsHD sW 550 Causgams aphiEGHng
flerL Qs flweldrena

Treated water is directly pumped into the distribution mains without
storing it anywhere is called '

%Y

(B)

(D)
(E)

Gravity system
Radial system
Pumping system
Circular system

Answer not known

asdlafssiuc L B ermi@n G&L&&&ngnmsb Corqwns fCwrs Quuiersefd
QegussLILBHb e

A4)

(B)

©
(D)

(E)

FFTLIL] emoLliL

Crigwed ienwiiy

Bt ghmib Siewiiy (UDIAB eLiLy)
QUL ey

elen QzsNweldreney

9 CESCE/2023
' [Turn over




15. Which water distribution network is used as a “looped feeder placed
centrally around a high demand area” along with the grid iron system?

(A) Dead end system
M Ring system

(C) Radial system

(D) Tree system

(E) ~ Answer not known

abs B ueﬂr‘rmrrafr sowly, &b eme e@wlyLer ‘e Csme odrar
QL @S ®LWLTES eus@SD ea(h g&Hors’ LweTLHSsLLGE DS ?

A)  L® wpoer el |

(B) auamer Si@wliy

©C) <y vdlitey el

D) wr ey

(E) oe Qsfweldama

16. Slow sand filters can remove bacteria as much as

(A) 70— 80%
(B) 80— 90%
(C) 90— 95%
W) 98 t099%

(E) Answer not known

QLogIeuTaT EITED GUIg&LgHET PLD ETCUEIETE ursleNwurésamer B&s (Pigub?
(A) 70-80%

(B) 80-90%

(C) 90-95%

(D) 98 to 99%

(E) e Qzfwelcrenew
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17. Which source of water, among the following, is not a surface source?

18.

(A) River
@ Well

(C) Lake

(D) Ocean

(E) Answer not known -

lﬂmm@@m@mﬁlm ahg B <smyn CuHuriy apewde ?

@A) 5d
(B) Hary
C) af
D) sLe

(E) oo QgMweldrena

The most widely used coagulant for water treatment is :

(A) Lime and soda
(B) Ferrous sulphate
(C) Chlorinated copper

@f Alum

(E) Answer not known

Bt Afsanssans Blal uruOTs LWETLRSSILRD (1) Hepid
A) &aﬁTanbq whpid Camm |
(B)  QuGrev sGuL

©C) ECermAGarLL s

D) ugsmyb

(E) o Asfueidame
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19. The maximum permissible fluorides in water for domestic supplies

should be
(A) 0.15ppm
w 1.5 ppm
(C) 15ppm
(D) 150 ppm
(E) Answer not known
S@ Comassrar samantie sifsurs sgiodssiul L fluorides-er sieray
(A) 0.15 9Qerd
B) 1.5 99ew
(©) 15996
D) 150 @ferid
(E) &Ner Qsflweloeana

20. Reservoir constructed at ground level or below the ground level is called

as
&)
(B
©)
&
(E)

Elevated Reservoir
Service Reservoir

R.C.C. Tank

Surface Reservoir
Answer not known

soToLLsHd dong sor LLLEHDG G slLuulL BisCssad
e e p&sLILHEDG).

)
(B)
©)
(D)
(®)

2 wirgsliul L BirsGsssd
Coaneu Bi15Cass0D
<1.8.8. Qgmiig
Cupuriiy Br5Gsssbd
clen Qsflwalcrene
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21.

22.

n

" Calculate the capacity of septic tank for 50 users @ 0.08 cu.m per user

(D) 40 cum
(E) Answer not known

50 (rbur’rasehlu‘um'nu@ggum a@]eﬁ B Qgmiigulied 0.08 sandrLi SIETQY Q@ BL(HES
@wuQer, seybir Qsmquier Qameaterancy saisdHis

(A)  4.00 senSr i

- (B) 320 sanSi i

(C) 400 senbrLi
D) 40 sanSci

(E) e Qsfweldena

. The floor area includes the area of the balcony up to

(A) 100%

B). 75%

@ 50%

D) 25% |

(E) Answer not known

gmu ugtiueTeded ST oerey urdsaller uriy GeibgieTang

(A)  100%
B) 75%
(©) 50%
D) 25%

(E) &lenr QsNwelldena

13 ’ CESCE/2023
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23. In a detailed estimate the areas are worked out to nearest

(4) 0.001 m? |
W@ 0.01 m?

~(C) 0.05 m?
(D) 0.005m?
(E) Answer not known
Qsefleurar wHUSL e LTtUTaE SpsaTL sTalsEEsE BsTOLWID GMHEs
Geuar(hib _
(A) 0.001 .82
(B) 0.01 .82
(C) 0.05 82
(D) 0.005 52
(E) &ler Qgfilweldena

24. The quantity of bricks required for 1 m3 of Brick workincm 1:51s
(A) 250 Nos

B 500 Nos

(C) 750 Nos
(D) 1000 Nos

(E) Answer not known

. 5 AQuan. somaiod 1 md Qemsd Gsuana) G&u_lmg,m@ agsman CFkisD
Ggma.luu@m?

(A) 250 crewrser
(B) 500 erarser
(C) 1750 erewrser
(D) 1000 eresmser
(E) &ler Qsfluefdeana

L]
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25. What is the cement required in m3 using thumb rule for cement mortor

1:2—-1ms3 .
«§ 05ms (B) 0.33 ms
©) 0.25m3 (D) 0.2 m?

(E) Answer not known

slaL oiyd elfewt LwdLESE AQuar soma 1 : 2 — 1 8% -é@ aaeuerey
B3, AQwar CganauliBEmg) ?

A) 058 | (B) 0.33 53

(C) 0258 (D) 0.2 .53

E) oo Asfueidame

26. For Lime morfar 1: 1%, what is the amount of lime and sand in m3?
4‘ Lime — 0.5 m3, Sand — 1 m3 |
(B) Lime — 0.5 m?, Sand — 0.75 m?
(C) Lime— 0.5 m3, Sand — 0.25 m3
(D) Lime—0.25m3 Sand—1m?
(E) Answer not known

saTamTby Soea 11 1%2-6@ B3-@e semermmbl HDID LocmoSlGisT SI6ITG GTEITEHT ?
(A) sawawrmby — 0.5 53, wewred — 1 153
" (B)  samammdy — 0.5 83, wawre — 0.75 153
(C) sawawmby — 0.5 183, wewred — 0.25 53
D) saweamrmby — 0.25 1583, wewred — 1 153
(E) Mo Gsfweloama

b 15 CESCE/2023
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27. The quantity of work that can be done by a labour in one day (8 hours) in
normal working condition is termed as

(A) Rate of work
@( Out-turn of the labour
© Turn-over by the labour

(D) Job of the labour

(E) Answer not known

@m Qsmferel g pravasE (8 wefl Crrb) Cewwb Geumewlamer sTgTremT
Blarouller BeT&sLILIHL perm

- (A) Caee Qewyb &isbd
B) Gsmflereisd Qaus (pigssiLrL Caree
(O)  Qsmferrafll Qeiig Ceuamauden erey
D) QsmPeraiuier Couame
(E) oL Asfusdoma

28. In the detailed estimate the areas are worked out to the nearest

(A) 0.001 m? (B) 0.005 m?2
7 001 m? | (D) 0.05 m?
(E) Answer not known

Afleurer wLHUS W @ urluamees @Fo Qsmer QApEHHaE samsd UL

Geuar(Hb.
(A) 0.00162 (B) 0.005 182
(C) 0.01 &2 (D) 0.05 &2

(E) ofeni Glg,lﬂu_:aﬁl@ma)

1
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29. Unit for white washing work is

30.

o ® mm
© cm | (D) Length

(E) Answer not known

GeausTaner Dig&@D CaumassTar i s,

(A) &8 (B) .8

- (C) Qs ~ | (D) pemd

(E) e Qsfweérena

Which of the following is the most correct estimate?
(A) Plinth area estimate

(B) Cube i'ate estimate

JJ Detailed estimate

1t

(D) Building cost index estimate

(E) Answer not known

Qe erg Was sMlwrar LHUISEH WYepWTELD.
(A) s ugtueTey WHUSH

(B) seamgperp wHisE

(O)  AAeurarwduse

(D) .51'_lq..l_ Qe GHWUILH wHUSE
(E) e Qsfweléena

17
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31.

32.

CESCE/2023 18

When the column is effectively held in position at both ends but not

restrained against rotation, the effective length of column shall be

W 101 (B) 111

(C) 201 (D) 1.21
(E) Answer not known

@ srefler @m® @mm&@m Fopo ywrs Hooudld @msEn Curg sigen
vwem Serorerg

A 1.01 . B) 1.11
(C) 201 D) 1.21
(E) oflen Qg,rﬂmaﬁ]cbmco

While calculating the bending moment in an isolated footing, the section

1s assumed as

M Cantilever

(B) Continuous

. (C) Fixed
(D) Simply supported.

(E) Answer not known

safl@LUUESSILLL  Sgorand () gsgesdear  dloee  WPHEE5DS
sansHHb Curg ismar @ agleuns flaarggs Qsrdarer GeuamHibd

A) @muss sTad QaraTLgns
(B) Qsr_isdlunengns

C) Peoowurasrs

D) @muss sTad Qarar_sns
(E) e Qzflweldena |

L



33. For stairs in residential buildings, the live load may be taken as
(A) 1000 N/M? 5 3000 N/ M2
(C) 6000 N/M? (D) 8000 N/M?

" (E) Answer not known |

aﬁ@é@ﬂs&r U &sL_(haafler @wiki@ samwwrearg)

(A) 1000 By e / 52 (B) 3000 flyy Lar / i
(C) 6000 By, L er / 18° (D) 8000 Hlyyr e/ 18
(E) slo Apfuciome |

34. Assuming a triangular load on the lintel beam, the bending moment at
- mid-span due to the weight of the brick wall above the lintel is.

[Where, ‘W’ is the total weight of the triangular brick work and ‘L’ is the
effective span of the lintel] ' |

WL ' o WL
W O
WL : WL
@ & ® =

(E) Answer not known

aurile L gdler Bg @m wps&Gamen LiEn et smHammed, aumde AL gdHis
- CuGe 2dter Qemisd seuflar e  sryammors BHLUUGHYIG gHUBL euemer

BAouyew

[W arenugy sCaman Qsmisd sauller Quorss aaL womb ‘L erarug aumudléd

el L gfer Lweym B ib]

WL WL
wL B) L
_‘(A) 5 | | (B) 3
. WL WL
WL D) YL
- ©) o | (D) 5
(B) &leor Gsfualdme
= 19 S | CESCE/2023
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35. The length of torsional reinforcement is a two way slab is equal to
(A) 11—0_ of short span (B) —;— of long span
1 1
M = of short span (D) — of long span
5 10
(E) Answer not known

Qraul vwssdar WYmsE aiapt Ll Qubp sblseller ferd @sH@ swwoTs
@ m&s Gouem(Hib

A) % o smiu B B) % o Sar BiLtd
1 . o 1 .
(© = & o B (D) 10 e fBer B L b

(E) oL Asfucoame

36. Shear steel is placed in reinforced concrete to counteract the shear
failure and

(A) Flexural failure

(B) Torsional failure

& Cracking
(D) Warping
(E) Answer not known

Gugz@y"_Lpur_l_ shetarie, Cal &sbld Qurmssuu@eug Ceul @k ey
wHOID @eng eTHTILFDHETELD

(A)  eauearey apdlenau

B)  vpés phlaa

C) s

D) yerssew

(E) olen Qg,rﬂu.nafﬂebému

1
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37.

38.

1t

Degree of workability for the floors

(A) Very low
0.2 Low
(C) Medium
(D) High
| (E) Answer not known
sensdlen Lanfl erafland semali(
A) Hss Gopey
B)  ©opey
tC) @a)l_ﬁmso
D) <fsp
- (E) ~ dfler Asflueidene

Bleaching of concrete is associated with

(K Seepage of water from concrete

®
©

(D)

- ®

Flow of cement paste to one location
Surfacmg of cement to the Top face of fresh concrete
Rising of water to the Top face of the fresh concrete

Answer not known

sarenyullen ;Elg)l.b WDRISD QS 6T FOUBSLILIL L G

@A)

(B)
©
(D)
(E)

spsrerquiladimig Bir sfleug

86 BLsHABhs Hfan Lms gHas)

flegamLps spararar Cod uGHuie AulaT Ligsdo
favgauamLpbs sharaquiear Cud ugHuad i gnisd
elen QgMwelerenew

21
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: 39 In the Limit State Method, the permissible bearing stress shall be
| @A) 0.2 fck

G 0.45 fck
(C) 0.55 fck
(D) 0.3 fck

(E) Answer not known

GuLbLY .;_61@)60 paopuiled SewdssrinlL grrréjéil (WSS
A) 0.2 fck

(B) 0.45 fck

(C) 0.55 fck

(D) 0.3 fck

(E) &ler Qsfweldena

40. In the Limit State Method, the maximum compressive strain in axial
compression in concrete is taken as
(A) 0.0035
~ (B) 0.035
& 0.002
(D) 0.02 -

(E) Answer not known

Limit State wepuie srardlfiiyed &HsssHd smss Hifly
(A) 0.0035

B) 0.035

(C) 0.002

(D) 0.02

(E) ofeni Qgrﬂu.naﬂébmco

1
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41. Cash flowing to the organization due to certain transaction as sale of
goods is said to be '

(A) Cash debit
(B) Cash balance

M Cash inflow

(D) Cash outflow

(E) Answer not known

Qurmlsefler elpuear ears smpliuBeusrd Ho ufleuissmarser a;rrumrrLorra;
Blpieuargi@ uewd umyw werpGu

A)  uwewrw upm

B) BSHu uewd

() uer aurey

(D) uews Qeway

(E) e Qsfluaioeame

42. Profitability Index is expressed in terms of |

(A) Whole number
(B) Decimal number
(C) Years

\(ﬂy Percentage

(E) Answer not known

orusgorar GHuie @gS]ésa;ﬂu@Lb &llgLd

Q)  ww aan
(B)  ssw aar
C) yan@sdr
(D) sseisn

(E) e QsRweldene

& : : 23 CESCE/2023
: ' [Turn over



 43.  Automatic Alarm system 1s usually installed in

A)
B)
-

(D)
(E)

Residential Building
Office Building

Industrial Building

Police Station

Answer not known

saraflwss  essfldans UL STSTIERTLONG

SWw&sLLGE DS

(A) smEb sl ks

B) <sigeaws sligLkiser
(C) Qsmfipsrere L igL hiGaT
D) P Hlenewiid

(E)

clen Qgflwelerene

Building.

HLIgLGED

44. Acceptable Noise Levels in Residential Buildings and Restaurants

@A)
&

(©)

(D)

(E)

30— 45 db
45— 55 db
55— 70 db
70 — 100 db-

Answer not known

ShIGL S@Dasdr wHmb lHHaeier gHms QsrdreT s Q@DEFD H6T6| TS

A)
(B)
(O
(D)
(E)

30 — 45 QLflue

45 — 55 QLflué

55 — 70 QLélud

70 — 100 Quélue
MenL Qgsflweldeney
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45. The expected duration of activity can be calculated by

@ 12Tt T, ﬂ{}zﬂﬁ4%+%
. e 6 e : 6

© T - 2Ty +4T,, - T, D) T, = 1o+ T, +2T,
e 6 e " 6 |

(E) Answer not known

Qeweduriger rdFumissUILHD STeid

@ 1,2 nt% ® 1,- 2T
© 1Tt T-T, o 7. - Lo+ Tnt 2T,

6 6
(E) ofeni Glg,ﬁlu_lsﬁlei)meu |

46. PERT is an abbreviation for
- (A) Program Evaluation and Rating Technique

u(!ﬁ Programme Evaluation and Review Technique
(C) Program Estimation and Review Technique
(D) Programme Estimation and Rating Technique

(E) Answer not known

9 @ T g ereTulen &HHSSLD

A)  Hge wHUSEH wHpb WHISH BILUD
(B) Hrer wHuSH wHmD Wy ey HILLID
(C) By samsEs&E wHHID Y QLE| BILLID
D) Hré sawsEEE wHHD WHOISEH HIL-LID
(’E) ev QgRwelerana
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47. The difference between the maximum time allowed for an activity and
its estimated duration is called

W Total float

(B)
(©)
D)
(E)

Free float
Independent float
Interfering float
Answer not known

@M CdswasE A@wHssUULL Fsuls CrrsHd@b gem wHuGd tiuc L
srsHH@b Geulorar Goumumr@p

(A)
(B)

©

(D)
(E)

Quwrss Wsamaeu
@éveu& genaeu
swnSerorer gema
GSNSE O Wgeme
elenL Ggflwelcrene

48. The check measurement for atleast 50% of work is one of the duties of

(A)
(B)
©

The Chief Engineer
The Superintending Engineer
The Divisional Engineer

(@’ The Sub-Divisional Engineer

(E)

Answer not known

&®PHS L&D 50% Ceauamassrar Cergeaner erailh Couame QewiLieui

(A)
(B)
(©)
(D)
(E)

seaen Cumdlwmerit
samsremiLiumeri Qurdlwmerit
CamL Qurdlwimerit

2 1 Camiru Qurdlwmerir

e G fweldene
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49. The most popular type of organization used for .Civil Engineering
Construction.
M Line organisation
(B) Line and Staff organisation
(C) Functional organisation
(D) Effective organisation \
(E) Answer not known

sL(hwrarsdnE vwearuhssLu@Bn Wseyb Wruewrer ey
A)  aufl sy

(B) - auf whmid sarQuir SemwoLiLy

© Q&u.ld)urn‘_@,a{mmuu

D) vweaydrer syl

(E) &lenr Qsfweldrena

50. A rapid and rough survey to ascertain the best suitable site for the
work is '
(A) Preliminary survey
" Reconnaissance survey
(C) Field survey
(D) Detailed survey
(E) Answer not known

uamﬂé;;esrrm Spbs eSS é_g‘é,]uu(b\g,g, Mevgeurmer wHmD sHenwwrer srGeu
A) e uwey #iGeu | |

(B)  wvopEgewiy <piey

€) Ho ey

(D) efeurear <6y

(E) Mer Ggfwelcoana

b : 27 ‘ . CESCE/2023
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51. If the number of members in a frame are more than (2j — 3), then the
frame 1s known as
(A) Deficient frame
w Redundant frame
(C) Perfect frame
(D) Space frame
(E) Answer not known

R FLLGSHen a_giqu;a;aﬂeb'r aanafisms (2) — 3) &@ HswTs QMBSTH HS
gL LD

A)  upprégep sLLD

B) VBeswrer s Libd

©) wydep siLbd

D) Qeuef S

(E) Mo Qsfwueioeme

52. In a shaft, the shear stress is not directly proportio'nal to

(A) Radius of the shaft
" (B) Angle of Twist

¥’ Length of the shaft

(D) Modulus of Rigidity

(E) Answer not known

R sarger Qe () gwsaurarg) Spsam_eupdin@ Criws Ggmifuns o erarg
(A)  s@mger b

B)  dpuusder Camamd

(©C) semgen Bemid

D) pmsss Qs

(E) oo Gsfweldame

1
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53. Moment of Inertia about horizontal centroidal axis, XX for a rectangular

plate of breadth 120 mm and de‘pthi 20 mm 1s equal to
| -(ﬁ{ I4x =8 x 104 mm*

(B) Ixx =120 x 104 mm?*

(C). " Ixx =20 x 10* mm?

(D) Iy =24 x 104 mm? |

(E) Answer not known

@son 120 mm, swyb (<) e 20 mm Qsrean. @@ Qs Lomsudler

| 4@am_ <268le (XX-axis) 2 pp Hmuyewo <§gpa;66m_m;j)@d) gGaaib @@ FWwb
A) I =8 x 10¢ mm* |
(B) Ixg =120 x 10¢ mm*
(© Igx =20 10¢ mme
D) Ixx =24x104 mm4

(E) e Qsflweicrens.

P 29 CESCE/2023
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54. The positions of centroids (%, 7) of circle
A) d/2,d/3 (B) d/3,d/3

@ dzdz (D) d/4, d/4
(E) Answer not known |

Al Lgfan Qs gri@seiear fae (T, 7)

@ dj2,df3 (B) d/3,d/3
© d/2,d2 o (D) d/4,d/4
(E) oL Asfudoma |

55. Which of the followihg is the statically determinate beam?

M ‘over hanging bear‘h
(B) fixed beam

(C) continuous beam
(D) propped cantilever

(E) - Answer not known

Wereumatarauphle Hlevewrar i 61z ?
Q) edsuugurar S
B) feewrar LSL‘D‘ |
©) Qg,m_r'ré:élmm b
D) e srengeSeui i
(E) ofan Qsfwcidana
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56.

57.

In a cantilever with uniformly distributed load, the variation of the
shear forqe is according to

(J linear law ' (B) parabolic law

(C) cubic law (D) horizontal law

(E) Answer not known

#Cr wrdfwrer ARCUIGEILLL &L CaTETL Qb srangedeufldy Geul®

2y wrmUT® Ul : '

(A) Cpllue sl (B) ugeueerws gL b

(C) sersiLbd | (D) fleviolL gL 1b

(E) &Merr Qazflwelcoane

The value of bending moment for a cantilever beam of span 7’ metre
carrying point load ‘W’ kN at free end is |

@ %m0 ® P kNm

) 8 2

«§ WikNm D) Ef— KNm

(E) Answer not known

@Qeoeis paaraile erel sano W KN ewé swa@d | farb Qarar smerg el

- spepulld ameasGh sHamsdan AL :
@ Y iNm ® Y Nm
< 8 _ A 2
(©) WIkNm | D) %’-’ KNm
(E) e anﬂu_leﬁlsbmm
31 - CESCE/2023
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~ 58. A steel tape of 30 m long has a cross section of 6 mm x 1 mm, if the tape
is stretched by a force of 40 N and E = 200 kN/mm?2. The elongation is

(A) - 0.1 mm , - (B) 2mm
(C) 10 mm :(d 1 mm

(E) Answer not known

@ 6Too@ Brm 30 B Berd g W GnI&EE G@JL'_@ 6 0.8 x 1 .85, s
40 N seow Qaran® @usstd idd ghu@b Bré <eag E =200 kN/mm?2

A) 0.1 mm | (B) 2 mm

(C©) 10 mm (D) 1 mm

(E) &ler QsNweldame

59. For a given stress, the ratio of moment of resistance (Ml /M,) of a beam

of a square section when placed
(1) with two sides horizontal (M,) and

(1) with its diagonal horizontal (M2) will be

(A) 1.125 «3{1.414
(C) 1.5 D) 2.0

(E) Answer not known

Aarhssuul_(Herer stressm@, gy augeusHanar
() AeLwrLwrs 2 arar@Qumg e erer erdiiy WwHUGHEL (M) wHmb

(i) epeewLLb Lol Lwrs o arerQurps e dter adity wolysesn (M)
o drer efgnengwoneng (M, /M,)

A 1.125 (B) 1.414

(C) 15 - (D) 2.0

(E) Mo Gsfweloee |

1
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.60.

- 61.

_ stress is the normal force per area that causes an object to
increase in length. ' '

{/ Tensile stress ' | (B) Compressive stress
(C) Shear stress (D) Vertical stress

(E) Answer not known

@@ Qurmeie allas gHuBSHLCUNTE ger Fard SslssTd Dbs sMsay
A) B é sewsey (B) smés swsey

- (C) Qau @ sowsey - (D) Qsra@ssran samsey
(E) efer QpRweiioene

Let ‘P’ be the force on the cross section having an eccentricities ‘ex’ and
‘ey’ along x and y axis, stress at any point will be

P P, | P, Py
I, I, | Iy R
P
(C) P/A+ }"ey x y (D) %x y

X

(E) Answer not known

X oEs, y Ao ‘P’ oaetn ugeunang ex, ey (ewwvweils@) Uetetludd
Qeweu@uramd: aCsaud yarafludad selloaow  samLdu  LweTuHW
FLOGTUITL_TETS)

(A) Pe".xx+Pﬁxy - (B) P/A+£X€£xx+PXexxy
y Ix _ Iy Ix
| P
(C) P/A +—I}—(‘3—y—x y (D) E}gg_x y
(E) oer Qzflwelerene
33 , CESCE/2023
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62.

63.

(O

For keeping the stress wholly compressive the load may be applied on a
circular column any where with in a concentric circle at a diameter

«

(©)

(B)

Wl A~
0| N

D)
(E) Answer not known

QL agel greflédr gamgameu erliQUIMHSID '@@mmmna; QnisssHd @HEGSLTH
@asd(méEs, UEbeutay Qb Ll perw Quig @wuw LSS DHET
Qequssriu Geuar(Hib

(A) (B)

Wl
0| N

D).

(BE) e QsAweilcorena

Base of rectangular column of dimension dx b is a Rhombus whose

| diagonals are equal to -
A) d/2,b/2 ({)d/B, b/3
(C) d/4,b/4 - (D) d/5,b/5
(E) Answer nq)t known

ufloraraseflar Qscuous GpRHeufamslar @wwy ugd dxb eaaug @
Crmbuey @b g6 apae el LEISET reh@ smaudmeEb

@A) d/2, b/2 ®) d/3,b/3
©) dj4,b/4 (D) dJ5,b/5
(E) &leor Qsfweldwama |
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64. Euler’s load for a column when one end is fixed and other end is free

- z2El
A Pg= 12
| 2ET
P, ==
| & », —
C P 4 72EI
( ) E — L2
' p o9r2El
(D) E — L2

.(E) Answer not known

om giaflar @m woar Hoofnssiul (o wyweer dalugtsab Gnudr,
| SisH Gl Ui sewwrang ‘

~2El

(A) PE - L2
2EI

B) P.==
( ) E 4L2
o P _;47Z2EI
( ) E — L2
Dy P, - 27°El

(E) e Qg,ﬁlmaﬁl@mm
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65. A propped cantilever beam having span of ‘L’ is subjected to a sagging
moment ‘M’ at the propped end, the reaction at the fixed end will be

3 M ‘ N2 M

2L : ®3T

M ' M
© o7 @) —

- (E) Answer not known

)

L’ ferd Qarewr @@ LB CsTRhios sl Lworag oigda i@ eoauda M
<lete) QgmiiE HHULDWLES 2L L, s 2 pduupn ol adialamen

%5 @QHESGL.
3 M 2 M
A B 7 7
M M
© o (D) —

(E) e GsMweldvea

66. Which factor represents the fraction of moment that is carried over from
the hinged end to the fixed end in moment distribution method?

(A) Stiffness factor

(B) Relative stiffness factor
Carry-over factor

(D) Distribution factor

(E) Answer not known

Amuyen udia wop¥e Eo Qewuwiiu L waenldmbs Haowwrear Wpmens s,
Garam® Gsoolu@n Hmiymoulea ugdow apss smrell GHsdng 2

A)  enriys srred
(B) e&miy Qﬁlmmﬁqés smiyewf
(©) udieys sryei '
D) apss Qsogib srren
(E) oo GsRweldma |

L}
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67. A continuous beam ABC rests on three supports and A and C are simply
. supported then the fixing moments m, and mg will be

(A) three
B) two
(C) one '

\9)’ zero

(E) | Answer not known

ABC aenp Qgrtrsflunar Sl A wwC wyo srgman srmduns GHésn
Qumg sigem Hleveowrar pLyemw My Wb Mo Wb

A)  operm .
B) @uan®
©) oo
D) ysHubd

(E) - e Qzflweileranay

68. Prop reduces in the beam.

'(Q{ Deflection

A - Slope
(C) Shear
(D) Moment
(E) Answer not known
WLLreang et L Sler —— W @m‘mésélmgj,
A) Aese
B) smiey
©) pgué;asm.
D)  douyew

(E) . e Qzsflweidens

= : 37 - CESCE/2023 -
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69. A cantilever beam of 2m long is carrying a load of 20 kN at free end and
30 kN at a distance of 1m from free end. Taking EI = 30 x 1012 N — mm?

then the deflection at free end of beam 1is
(A) 0.61 mm

(B) 1.61 mm

: 6 2.61 mm
(D) 3.61 mm

(E) Answer not known

2m  fed Qsrane Cseangeleur Gl Arpsrd @éders weau@gb, 1lm
Ggraaeigib 20 kN, 30 kN fper Gewou@w Curg Arssr Woars apevanuder

FHU@LD euemerey ereueuetay, aHsgsE@sTars. EI = 30 x 1012 N — mm?

(A) 0.61 mm
(B) | 1.61 mm
(C) 2.61mm
(D) 3.61 mm

(E) &9err Qg,nﬂﬁ.mﬁ]d)ma)

L
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70. Foot valve is als_o known as

71.

A)
(B)

Gate valve

Regulating valve

M Non-return valve

(D)
(E)

Air relief valve

Answer not known

&M GUTELE| GTETLIgG)

(A)
(B)
©
(D)
(E)

GsL_ eumevay

PQEGUESSHID aumhey

Smbung cumeay
sTHm Hleumyent euréey

clenL GQsfwelevena

The type of truss commonly used for span varying from 5 to 8 m is

@A)

Queen post truss

@( King post truss

©
D)

(E)

(B)
(©)

(D)

(E)

Bel — fast truss
Lean — to — roof

Answer not known

grenfl GreossH
TN SIW&ESL(H
Querumevl Gro&s @ .
@neureansd Fneniy

e Gz Mweldena

39
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72. Admixtures which speed up the initial setting time of concrete is
known as

s

(B)

©
D)

(E) -

Accelerators
Retarders
Plasticisers
Inhibitors

Answer not known

sharegullen <y @mid Crrsas @ﬂguu@ggm/@ma;uu@ggm 8561)@5)@&3831I_®
@ecucumy am%p‘sa;uu@aﬂmgj

(A)
(B)
©
(D)
(E)

whsfsdr (Accelerators)
ehsdsar (Retarders)

- sopawLwlyaar (Plasticisers)

emarsshudsdr (Inhibitors)
en Qsflwelldency

73. The separating out of coarser particles in a dry mix, termed as

0( Segregation

(C>
(D)

(E)

Bleeding
Compacting
Consolidation

Answer not known

smiips svmanieo Quilu gsdsmer YNsE TRESD WP@poW

(A)
(B)
(©)
D)

E)

Wfsge8 BB

1966 1q- i

SIYPES PO

srans P& QETeTEnse
enL Qs flwalerens
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74. The moisture content in a properly seasoned timber will in the range of |

(A) 5% to 8%
(B) 8% to 10%

9 10% to 12%
D) 12% to 15%

(E) Answer not known

sflwung u?,ﬂu@gguut_L wrSSlen FrUSSHEn DeTa]
A) 5% -8%
(B 8% —10% -
©) 10%—12%
D) 12% - 15% ,
(B oL Gsfludddoms

75. The timber preservative creosote belongs to the group of

(A) Water soluble _salts
(B) Organic solvent type

JGf Tar oil type

(D) Inorganic solvent type

(E) Answer not known

ARCurCemi_ wugﬁ@m’ urrg,jasrnjurra; MEUSGGLD (G(PLOLD
A) ;f,tﬂeo S@PWFnIGI 2 1L

(B) saiv sarsd uans

(C) s aamrQenris cuens

D) safloib @OOTG SMTFED UMS

(E) Mo Qsfwualovame

= - 41 , ' CESCE/2023
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76. The formation of bubbles under the film of paint occurs in this defect.
This 1s known as

M Blisting

Wrinkling
(C) Running
(D) Flashing
(E) Answer not known

Quuiar uLsdn@ SCp WL Curem 2 (HeUTEL &M eTeLg)

A)  9Nevigm
(B) eOMmedim
(O pemafim
D) YGerrAim

(E) aflenr Osflueldrana

77. According to size, fine aggregate material between O. 06 mm and
0.002 mm is classified as

(A) Sand

» W Silt

- (0) Clay
(D) Gravel

(E) = Answer nbt known

giseT etaeuls Qurmsg, 0.06 8.8, g 0.002 8. LB mmquﬂ]mrrm wenrh Feed

cUoNs

(A)  wewred

(B) euenLé wehr
(C) sefloar

(D) sgenar wewred
(E) e Qsflwueloeana

1t
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78. Brick earth contains major quantity of

“ (A) Aluminium
W& Silica
(C) Calcium
(D) Magnesium
(E) . Answer not known

Qemsd wamantld QuELUTEaTMmWLWTS 2 6Tar safl QuTmET 6Tg) ?
Q) @il

B) Aasn

(C) smeoflwibd

D) Quwseatdwbd

(E) oL Osfluaioma

79. The test on cement designed to accelerate the slaking process of the
ingredient of cement and to determine the resulting expansion in a short

time is
A) Sétting time test
Soundness test
(C) Normal consistency test
(D) Accelerated test _
(E) Answer not known | ' |
SQwerrgen el seamwerw GnHW sTsHd samh WgsEGh Horsder weam
agaer GCsite Qeuiw LweTuBS DS ?
A) @ne searew Coprb Csiey . [ |
(B) sayararev Csiray ' '
(C) &g sandl_andl Csiay
(D) efleowpay Cairay
(B) oo Qsfwueidena

o ' | 43 CESCE/2023
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80. Soundness test of cement is carried out to determine its

(A) alumina content

(B) iron oxide content

M free lime content

(D) durability under sea water

(E) Answer not known

ACwenrg et Fayenrarav Csirey Ceuwieug @gmén asafﬁ@u.‘ﬂqésss
D) gbfen aeieueray
- (B)  swer opsme® ereueuetey
(C) Free lime eréucueray
(D)  sLobffer oquie aumpprer smeib
(E) Mo Gsfualdame

81. In sandy soil

(A) Jamun tree recommended
(B) Mango tree recommended
W Kanju tree recommended
(D) Teak tree recommended

(E) Answer not known

LewTed LocsTeniled

(A) g v ufipgmrssuuGdps
(B) wrwrb ufligierssiu@dns
(©O) s@pe wrb uﬂﬁ@mg&&ﬁu@é\mg
(D) Gsse wyw ufipgmrssiLEADs
(E) &ler Qgfweldeme
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82.

83.

‘The uniformity coefficient of soil is determined by

@ Do R

Dgy : Dy
(C) © Dgox Dy
(E) Answer not known

warenilen frrear Garawrang Weareumeuareupde SiwrallssiiubhEng

'. D
@ 2o B 2
DGO D 10
C). Dgyx-D D (Dso
‘() .eox 10 ()D1o><Deo
(E) e Qsflweldrena
Strength of soil is not determined by
(A) Shear test
(B) '.Beai'ing test
- (C) Penetration test
@f ~Grain size distribution
- (E) Answer not known
werenflen euellenp ————— 4,60 ;_%r'rmrréﬂé;a;uul_aﬂd)mcﬁ

(A)  ofwir Cengeman

(B) Quwim Gsrgemar -

(©O) ea@pmeue C%&rrgabsur |
D) mengsaien gavr MQuayen

- (E) &9en Qgrﬂu_laﬁki)a)co

45
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84. If the soil at the site of bridge is very soft and good soil is available at a
greater depth, what type of foundation would be economical?

(A)

©)
D)

(E)

Raft foundation
Pile foundation
Spread foundation
Grillage foundation
Answer not known

LT Siewbgemer QL wem Wseah Gueramwwnsealb, FH® WSS AHs
e SLs@Gh UL FSHD ThS uMELTET Sjigss5eTd HEsaronarg) '

(A)
(B)
©
(D)
(E)

JMeoll_ SBiiq &SETLD
co@MLIE) 3iiq &SETLD
2T, (MR 3351 1
iflvCGagy g FFeTid
clenL Qzflwalcrene

85. Caissons open at bottom and closed at top are called

(A)
(B)
©

Open caissons
Box caissons
Well caissons

@f Pneumatic caissons
(E) Answer not known

CuBa apruuc®  ECp SHopdmesn  Csustasd ——————  aran
Smp&aliLiBElermen. , _

A)  Hobs Cawsmer

B) Quig Cswsrer

C) Qe Ga;u'_larra'n”

D) PHwCwiiys Cawismer

(E) ofen Qsfweforans

- CESCE/2023 46 b



86. Caissons made of boxes of timber, steel or R.C. or masonry with both

87.

~ ends open is called as

e

Open caissons

(B) Box caissons

(C) Pneumatic caissons

(D) Floating caissons

(E) Answer not known

DT 6Teo@ BIONVF T8 QUL g saTTed %@T.QBSU'J&GBT Sz Hobs UL g8 EHL 6T
o _arer Guage eTeTm SMWPSEUILHEDSI.

(A) | @mﬁg, Gawigar .

(B) umsev Cswisern

(C) Pwlwi s Caiigan

D) WVssEw Cauiser

(B)

Men Qs Mlweiwene

If the porosity of a soil is 0.6, its ‘void ratio’ is

o 15

(B) 0.375
C) 1.6
D) 04
(E)- Answer not known
werarilen Liayeno 0.6 & @HHeTD, Siger Qe eldgb ————— @L.
A 15
(B) 0.375
©€) 16
D) 04
(E) oo Osfueioma
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88. The super elevation .is
M Directly proportional to the velocity of vehicles
(B) Inversely propprtional to the velocity of vehicles
(C) Directly proportional to the width of pavement
(D) Inversely proportional to the width of pavement

(E) Answer not known

Apbs WPsLUIL Lnfrenau Grdrugj

(A) S—— Causgdi@ Corg eNdgwns
(B) ansamsaier Caussdis adiwep efgwrs
(©). perurms aa;a)g,‘éﬁfrbé Gy elflgons

(D) ;II;GD?L_I;INGD‘Q', A0S H @ T G)S]&LQSLDI;I’&S
(E) e Qsflweleera

89. The lateral slope of a road surface from the crown to the sides of the
carriage way is ’

Of Camber
(B) © Super elevation
- (C) Gradient
(D) Summit curve
(E) Answer not known
@@ aangliuremsuier HFLsHSBHg WWESEHEE 2@TLTOT FTEM6 Gwﬁ;ﬁuﬂaﬁ]a‘n
usseur_(H sriGe
(A) Gswbur
, B) Vs 2 ww 2 wyd

©) smiey
D) 258 cuaenay
(E) e Gsfwueloame

CESCE/2023 - T | =



90. The success and utility of a hill road depends on its

(A) foundation

(B) nature of side supports

w( proper alignments
(D) cost of construction

(E) Answer not known

@m waelurtasuear Gebdl wHmID vweTLTf —  Qummsgl
eMLouLd. : _
(A)  sigsgernd

B)  u&s osrey (sLICUMITL) SeTanLD
(C) sfwmer &renwiiy |

D) s @wrer Qseay

(E) oo Gsflusioeme

91. Ground water is found to occur in the gevological formation, which is

(A) Non porous

(B) Non Permeable

(C) Non porous and non permeable
V Both porous and permeable
(E) Answer not known

Helulwe sewiided Haoss E,amy samHL g LiLg eTdled
A) yemw Gererio

(B) Qurflayy @ereno

(C) yegw, Qurdleyy @eoens

D)  yemw, Qurdlayn Q&G

(E) elen Qgweidvena
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92. Power transmitted through pipes, will be maximum when

(A)

(B)

©

(B

head loss due to friction = % total head of inlet of the pipe

head loss due to friction = i total head of inlet of the pipe

head loss due to friction = total head of inlet of the pipe

head loss due to friction = —;— total head of inlet of the pipe

Answer not known

| LuQuUTWE @@ Gwrild 2 && Hper Gadeib

A)

(B)
©)

(D)

(E)

CESCE/2023 50

&Unuueﬁ]mﬁcb o Wb @iy = Gmulier wsuL Qwrss @_uggﬁcb urd
2 grieilarmed 2 wyb @iy = Gprulier Wwaly Cirss ;udgé,]dj &sme UGS
o gmeilerTéd o wrbd @l = @Gwruiler wsiy Quwrgs o wiyb

o prieilermed 2wy @iy = @wrder wsLliber Qwrgs 2 wrsdd eperdle
20 UBISG .
cdlenL Qgflwaleena
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93. In case of open channels, uniform flow is possible only in

(A)
(B)

Artificial channel

N atui‘al channel

M Prismatic channel
(D) Exponential channel

(E)

Answer not known

SobHs Ceardsaflan dagwsdd @Cr wrdflwrer U b eruumpg stsSHwiwmEib.

(A)

B)

©
D)
(E)

Qewpens Ceared

@Qupaswrar Gsere
Gfeipomg s Gaared
3$Caus Caamed

clenL Qg Mwelebens.

94. Orifice meter is used to measure

\(( Discharge

(B)

Average velocity |

(C) Velocity at a point

D)

Pressure at a point

(E) Answer not known

(Orifice meter) gaerwered aTsmen erés LWETLHHDS ?

(A)
(B)

©)

- (D)
(E)

QeuefiCubm

synafl HaveGeusid

e yearafluer HansGeusid
@0 Yeteflliled SipssD
efen Qg flweilerena
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95. The co-efficient of velocity (; Cv) for an orifice is

4x* | O
A C = |— B C —
e ®) €=
? . 2x
C, == D) C, =
6 v 4yH ( ) v \/ﬁ
(E) Answer not known '
@@ gearuler Has Ceaus Qs (Colureang
4x* 2%
A C,=.— B) C =
@) G yH ® C, v
2x

. 2
p— x —
(©) Cv“/4yH | (D) C, = N

(E) e Qsflweleema

V2
96. The term — is known as

2g
(A) Kinetic energy
(B) Pressure energy
- Kinetic energy per unit weight

(D) Pressure energy per unit weight
(E) Answer not known
V2
g erenn 2 miiewy @eueumn QEmedGomibd.

g
A) Qussaumpoe
(B)  <iwss wdoD
O Qussaumdped/siaE el
(D) (PSS AHDED /NS, eTEnL
(E) e&leor Qgfweldene
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97. Darcy’s equation is used to find loss of head due to

(A) Sudden enlargement
(B) Sudden contraction
(Zf Friction

(D) Obstruction

(E) Answer not known

Darcy’s equation <yeng g,dmm‘?rﬂdrr Qi serellReugnE Weeameuareumde
LwerUHSSULBH S DG ‘

Q)  Her AAeurssd

B) Her smésid

(C) egmiey

D) s |
(E) e Qsflueideame

98. Laminar flow is also called as

(A) Vertical flow
B) Pressurev flow
(C) Turbulent flow

@( Streamline flow
(E) Answer not known

SR&Cam L umueilar gy Quuwir
(A Q&rz';:@ggrrm umiey

B)  <wss umiay

(C) Qsmpgefvuner umiey

D) quymuster umiey
(E) oo Gsfuddame

by 53 CESCE/2023
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99. A rectahgular plane surface is 2 m wide and 3 m deep. It lies in vertical
plane in water of specific weight 9810 N/m3. Determine the total
pressure on the plane surface, if its upper edge is horizontal and

coincides with water surface.

(A) 880290 N (B) 44145 N

(C) 176580 N & 88290 N

(E) Answer not known

218 sispd 3 B 2 wrepb aeﬁmﬁ&@mam@.@ Qummenmeng Qemi@Gssns Bl

GG ESLILLDeTasl. s HeLwlL ugd Ble Codugdeow Qs @
QanamRarerg. Sllanr <iLigH 9810 N/m? arafler, iuQummeller gpu@b Quwrss

SI(WP5ssHen setay
(A) 880290 N (B) 44145 N
(C) 176580 N (D) 88290 N

(E) oo Qsfuelome

100. The pressure less than atmospheric pressure is known as

(A) Total pressure \({) Vacuum pressure
(C) Positive pressure (D) Absolute pressure

(E) Answer not known

auefloain_ o SisssANE GoDaITaT SI(WSHLTaS)

(A)  Quigs aiwssd (B) Qaupdl <ipssw
(C) Criwen <isswd D) =ipd <iwssn
(E) e Qsfwelcvenaw

11
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101. Most of total station can measure horizontal angle to at least

(A) 20 seconds
(B) 30 minutes
(C) 5 minutes

M 5 seconds

(E) Answer not known

Qurgleurs W ‘rﬂmmug,‘é,]m am&asuu@m sayser CoTemhiser <,ang) @;r,g, 3|eT6Y
ANwsTs SerdHsIUBID

(A) 20 pmgser

(B) 30 fui_mser

(C©) 5 Pl msar

(D) 5 Apmgser

(E) &lenr Qgfweiidena

102. The effect of Moon on tides in the ocean is

" (A)  less than that due to the sun
(B) equal to that due to the sun
W27 more than due to the sun |
(D) due to its rotation around the sun along with the earth
(E) Answer not known

Haoeilame sLd Simauder Bg gHhuB STESLTAG
Q) elu galer sréssms AL Gmpeuns

B) &iu gellier gréssbE Qmarurs

O ©u galller sréssms AL Pswns

D) yBuyLer Ceipg @Rwenan &HH 6uHeSTD
(E) &ler Qsfweldena
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103. Point of tangency is

A)
.2
©)
(D)

(E)

Beginning of the Curve
End of the Curve

-Common point where the radius change

Common point where the radius and direction change

Answer not known

Qer® Hlevew yerefl eremig

A)
®B)
©)
o)
(E)

cueneTallel <y FLbLILD

cuaneTailen (ig.ay

T rpd Hurgeurer eref]

<27 wHmb Hens wrmbd CQurgeurear Lererf
ellenL anﬂmaﬁ]@mw | |

104. Different grades are joined together by a

(A)
(B)
(©)

Compound curve -
Reverse curve

Horizontal curve

M Vertical curve

(E) -

Answer not known

LoelgLner Srismar @aaT&EGLD auamaTa]

(A)

(B)

©)
(D)

(E)

L)) eumaTa

it cuanerey
Sl L cuenatey
QsriESs euaeray
aﬁlén; Qg Nwelerene
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105. In Total station, the vertical angle is usually measured as a

M Zenith angle

(B)

©)

O
®

Inclined angle
Reflecting angle
Horizontal angle

Answer not known -

Qm_rrgg, ‘rf;lmeou_lgglm QemGsg Caramrorang Qugeurs &mésa;ﬁ:u@éﬂmg

A)
(B)
©

D)

(E)

o 58 Camewrid

- gmlUeuren GamewTid

Qruadsgid Camamid
el L Csmemrid

Mer Qgflwelerens

106. TheATangential Method of Tachometry uses

A
(B)
.3
(D)
(E)

The reading against all the three cross hairs

‘The reading against the top and bottom cross hairs only

The reading against the middle cross hair only
A constant intercept on the staff

Answer not known

ﬁm&@ms smedllan LweTUT 1gd Qgr® Cari® ¢pap

A)
3B).
©)

O

(®

ety NS sbdseler erdlyrar iemey

G L_{Hib &Q s 9sefler crélgrar 6Ty
5O GNES 5&&5@5@ aTdgrer ieTey Lol'_(b\u.ﬁ
san@eauLsded GusELG wmhe

e Qgflweidena
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107. Local Attraction at a place may be due to

(A)
(B)

Key Bunches
Steel Buttons

W Current carrying bare wire

(D)
(E)

Electric storm

Answer not known

R QLSE0 2 6TenT FFTLIL CTHET SMTETLONG HEHLOWIGVTLD ?

&)
®)
©)
D)
(E)

gnell Q&S &aeT

Tood an;_‘r,g;rreirrascﬁ

Blengmyd &whg QFdeibd sb9s6r
Westamy Geuarfl

efen Qgflwellédenew

108. The process of turning the telescope through 180° in a vertical plane is

W Reversing

(B)
©
D)
(E)

Line of collination
Changing the face
Telescope Normal

Answer not known

- QgraoCprédeaw Q&rm@gg.j sargdled 180° HmLijeuens |

(A)
(B)
(©)
(D)
(E)

CESCE/2023 | 58

SOOELD

Lmienay oL L&CaTEH
QP&5®S LIHHIGIS)
AsreaCprsd swwrs

e Ggflwefdene
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109. fn closed Traverse, sum of Interior angles are equal to
& (2n-4)90
(B) (2n+4)90°
C) (n-4)90°
D) (n+4)90°
(E) Answer not known

@@ apgw Traverse-e 2 eter 2 Canambiseflean am HsQsTans
(A) (2n-4)90°

(B) (2n+4)90°

(C) (n-4)90°

D) (n+4)90°

(E)  elevr Qsfwelevanew

110. Correction for Curvature for a distance of 1000 m =

(A) 0.0112m
(B) 0.0673 m

) 00785 m

(D) 0.0785 km
(E) Answer not known

@@ 1000 S Qsrevaeipsrear euetend SHmSSOTTS)

(A) 0.0112 8 .
(B) 0.0673 8

(C) 0.0785 8

(D) - 0.0785 &..8

(E) e Qslweldena

= : . 59 CESCE/2023
: [Turn over



111. Electro Static Precipitators (ESP) is primarily used to remove

0( Particulate matter
(B) Noise pollution

©) Carbon monoxide
(D) Chlorine

(E) Answer not known

(ESP) (eravs_ Gy aoL_mg & ﬁ]rﬂeﬂlﬂ@l_l_rr) EpGEONAL G)EI]QS]:UJ‘QS‘Q'D&SNGS W&EHWLLTE

vwetuh S g

A)  uirgdGar G L

B) g wns

(C) @&niuer Curerm <y samen(H
. (D) sCermMen

(E) eeL Qsfueldame

112. Effect of AII‘ Pollution on Building materlals results in

v(a{ Decolouration

Reduction in tensile
(C) Craving
(D) Embrittlement

(E) Answer not known

sl wrar’ Qummlsealléer smHm wrEUT G elenaTeysar

&) Aponppo

B) @Qudes gopuy
©) Afge

D) Sesey

(E) eler Qsfwelcdrena
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113. Which pattern of refuse collection proves to be economical for cities
" situated on sloping hills?

(A)
(B)
©

- Fan pattern

Interceptor pattern
Radial pattern

M Zonal pattern

(E)

Answer not known

&nﬂeurreo'r vows Gapsalld @wpGeT BETEGERSE abs . sfleBr Cesfiy
pon HEsaTorang)?

(A)
(B)
©
(D)
(E)

N8 euens
@eLwduldl uens
2T UG

LOGRITL_G) GLENS

e Qgfwelldena

114. Treated water is pumped and stored in elevated distribution reservoir
then distributed to the consumers is known as

1

\Kf Combined gravity and pumping system

(B)
©
D)

Pumping system
Circular system
Gravity system

(E) Answer not known

&gé\aslﬂa;a;uuu_n_ Br bl Qenwdul @ ﬁrrg@:sasasgﬁm Ceiggl MausSILIL
B&TCunh&E FICuNdlsEh wap

@)
®)
©
(D)
®)

Rphdamenthbs FTLIL WHDI LGB el

Ui Hevl_LLb

QUL el

FRTLILY Slevl_LLb

clenL Qg flwelerene
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115 To avoid the contamination by sewage the water pipe lines should be
laid, at horlzontal distance between sewer and water pipeline should be
atleast :

A 1m

B) 2m

M 3 m

D) 4m

(E) Answer not known

5E§Ia.| B epod wresLRums seliss Bif @ggrru_ua;mm sPleyBr GLTUSEHEES
CTELGUETGY £)em.u>|_|_ SsHd smwsEs GouamBiwb ?
@ 18

B 28

C) 3.8

D) 4.8

(E) oo Qasflweiicvanew

116. The term used for providing connections with the water mains for
releasing water during fires, is
(A) Sluices
J% Hydrants
(C) Ventilators
(D) Manholes
(E) Answer not known
& eusgiseflenGurg fey QaelCuppeuspsrar Bruudies GwruyLer
GPETLILEET CULPMEIGEUSDETET HHLOLIL|
A)  wsEsdr |
(B) Sweanriiys @wmi Qeentiiy
(©O). sresi '

(D) amr@pyey
(E) ofer Qsfwedcoame
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117. Colloidal Impurities are determined By
| Uf Colour test

(B)
(©)
(D)
(E)

Temperature test

EDTA test
Hardness test

Answer not known»

QaremiLed assnsmer Siorallliug

(A)
(B)

©

(D)
(E)

118. The presence of

cuarent Genganan

Qeuiu Caengenen

EDTA Gsrgeer

sigen Cangenen

eflen Qzflweldene

Jﬁf Iron and Manganese -

(B)
©
(D)
(E)

A)
- (B)
©

D)

(E)

Manganese and Fluoride
Sodium Fluoride
Calcium Carbonate

Answer not known

causes reddish brown colour to water.

e Qooy Aatiy uuy Bnses saratmss gHubSSADS.

- @B LHMID IEGETS

LDIRIGES HOID <oLIEHMTH
GE'TLQ.UJL.D o%U@@‘)U’@
srflwb srruCer_

oL Ggflueidme
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119. Complete reduction of residual chlorine in water is called as

(A) Pre-chlorination

(B) Post-chlorination
M De-chlorination

(D) Double chlorination

(E) Answer not known

Bfléo o drer @Gmmﬂ@ﬂdﬂ PHWLWTET G DLIL
Q) e (9% GCarriGarager |
(B)‘ Wpesw (Curavl) &GerriGarager

©C) 1y ECarmfGanager |

D) @reL &GarmAGarayer

(E) o&er Qsflweiicrene

120. The maximum permissible total solid content in water for domestic
purposes should not exceed
(A) 300 ppm
(B) 400 ppm
wf 500 ppm
(D) 1000 ppm
- (E) Answer not known

o T Crrésnsenssns Bild deulgwns a@m£$a§uuLL Quwrgs H
2_@TerL_&&LWD : g AL oflswns @) (hEsEemL TS

(A) 300 99erd

(B) 400 99er>

(C) 500 99er>

(D) 1000 GQerid

(E) eleo Gzfweidama

A
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121.. Estlmated cost of a proposed bulldlng on plinth area basis is

Kf Plinth area of the Building x Plinth area rate of the locahty for

122.

(B)
(©)
(D)
(E)

similar buildings constructed recently.
Approximate cost — Plinth area of the building
Approximéte cost — Plinth area rate

Floor area rate — Free space area

Answer not known

Ih&S uGH aqﬂuml_uﬁle’o @@ e QumAutiulL sl sdler wHUSH Qeway

(A)

(B)
©
D)
(E)

sl e Q&G UGH uriuete] X &LligL SHler a@as@ U@Q’J gilusSed
slLiulL @QCs Gumenp sLligLgdlam iy

Camymwwner Qewe| — sligL et AHES u@ﬁ
Garymuwrer QFwe| — ABQESG UGH eIz
g UFlidere) — @eeud @)L LIFLLIeTey

clenL QgMwaeilcvene

Revised estimate gives

(Kf Revised quantities and rates of items of original estimate

(B)
©
D)
(E)

S.D. Value

E.M.D. Value
Actual cost
Answer not known

wrpm wHUSH QaErGuug -

@A)
®)

©)

(D)

(E)

pgemenwwrer LSS ger wTHBIW &mma;anmqm,eﬁlmw wHUSHsemeTLd
6Te.1q. LIy

@.eTb.1q. WSy

2 _amrenwner GFaay

elen Qgfwelereney
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123. The estimate Which provides the itemwise quantities of works, items
wise unit rates and itemwise expenditure in the construction project is

0{ Detailed Estimate

(B) Qualitative Estimate
(C) Quantitative Estimate
(D) Item rate Estimate

(E) Answer not known

sl porer HlLsded saESH PODPUTAG g erel, 6l  WHOHID
Qswvaiagmg semsd®h GFueug
(A) Hersorar sanssH

(B) sywrer sans&EH

(C) siemaunen samsshH

D) safl oo sarssE

(E) e Qsflweidena

124. A document containing detailed discription of all the items of work
together with their current rates is called '
(A) Tender
Schedule of rates
(C) Analysis of rates
(D) Abstract Estimate
(E) Answer not known '

Soass sHGurmswu QurmLseier elflarar eleTésrismer Csmam @
SpeueRtd jeupier sHCLTMSW NHFhsGEHL6T eTeuauTn SDPSSEILIHETDS) ?
A)  euubswb

(B) ofsrsafiar oL euament

(C) &5 uEuumiey

D) &smss LHISH -

(E) e QsMweldane
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125. The number of standard modular bricks required for 1 m3 of masonry is

(A)
(B)

(E)

1 m3 s heush@ assman srwrar Qemsd shaer CamaeuiL@b ?

(A)

(B)

©
D)

(E)

540

- Answer not known

540

520

500

480

cllenL QgMwaelerane

126. Actual size of standard modlilar brick

)
(B)
]
(D)

B

20 cm x 10 cm x 10 cm
19cm x9cm x 4 cm
19cmx90m>&90m
20 cm x 10 cm x 5 cm

Answer not known

Qenbgy CFngEHMI6m 2 @TaWTE 66,

(A)
(B)
©
D)
(E)

20 Qg.8. x 10 Qs.8. x 10 Qs.15.
19 Qg.15. x 9 Q&.8. x 4 Qg.15.
19 Qs.15. x 9 @s.15. x 9 Qs.15.
20 @s.18. x 10 Q&..8. x 5 Qg..8.
eflenL Qg flwefldama

67
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127. The procedure by which the quantities of the various items in a
particular structure are worked out is known as

| (A) Quantity estimate
(B) Item wise estimate
(ﬂf Taking off quantities
(D) Detailed estimate

(E) Answer not known

uesriul L Caumasailer oiarejsmer eIl DHaTESD pepulaman
A)  seray HNIE

B gaans ueS LAISH

©) Cpraurs serelGoig

D) Nfeures wHUSEH

(E) e Qsfwelicvana

128. The provision for miscellaneous petty items, unforeseen items etc., as
contingencies varies from '

(4) 1% to 10% ~ (B) 3% to 5%
& 2% to 5% D) 5% to 10%

(E) Answer not known

- AL@Curenr Gswelland CuID sSaETEISES G]g,rﬂu_nrrg, Q&maﬂmrma@a@ @57
Qeavaysafier ergemen Gg,rr;r,@g,@a;asmrrw

(A) 1% to 10% (B) 3% to 5%
C) 2% to 5% (D) 5% to 10%
(E) o QsfAwciédrana

L}
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129. The principle units for piece work, job work etc is in

(A m3

(B) m?

©) m
nos

(E) Answer not known

aaraflsms Caumem, GsTEed Caimaulear WsHL D0 a1z

A) B3
(B) 52
© s

(D) eawalsams
(E) e Qg,rﬂu_vaﬁlé)mw

130. Unit of measurement for tile flooring is

A) Cum
(® Rm
w Sq.m
@ m

(E) Answer not known |

L (hsmyullen emeil g6 DS
(A)  ser BrLi | |
(B) el i

(C) &gIT BUL T

D) S |

(E) oo Qsfwelcrena

pmnt 69
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131. The maximum permissible slenderness ratio of steel ties is
(A) 180 (B) 250
y 350 (D) No limit

(E) Answer not known

S@LFEEIUL L HELLEF arflen Cwadeilw Hdsb eremug)
@) 180 | (B) 250

©) 350 | (D) aomadioanss
(E) oL sfucioama |

132. When 'a steel member is subjected to tension, the gauge length

contlnuously change due to

" (A) the Poisson effect
@f the longitudinal strain
(C) the lateral sfrain

(D) the bending moment
(E) Answer not known

R 6Too@ 2 mili] @uelanssE oL umbGurg, cqg,arr et Berid
A& QSTLTHE LIHHDG.

(A)  umisrer eleneray
(B) Seraunss Sl
(C) ussaur @ Hfy
D)  aear HeiiLien
- (B) e Asfwudldme

1
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133.

134.

For footings, the minimum nominal cover shall be
(A) 40 mm . (B) 30 mm
(C) 25 mm «ﬂr 50 mm
(E) Answer not known |

Sl orarsde Hb9sEnES @mmpgul_& s 2 &SIl (S6uir) @Gueurrgu @@55;
Geuaisr(HLd

(A) 40 A8 | (B) 30 B8
) 25 B8 . (D) 50 A8
(E) o&fen G]g,rﬂu_la‘j]cbd)m

In the design of column with helical reinforcement, the ratio of volume of
helical reinforcement to the volume of core shall be

(A) 0.36 (Ag )

Ak
(B) 0.36 Fck
Ag
0.446
©) ( 4 )
» Ag ) Fk
0.36 :
( ) Fyh

(E) Answer not known

Apheuflens eugiapl L elemr eugaimwlbe, Candlsd QL L@s@GSD @ww
Slerallh@ 2 erer el :

A) 0.36 (Ag )

Al
(B) 0.36 Fck
Ag
) 0.446
© (Ak )
Ag ) Fck
D) 0.36 kil
o0 (Ak_ i

(E) Mo Gsfudlidma
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135. The slab is designed as a one way slab is

@ B =2 -ng%sz

© b <2 | ® B s12

(E) Answer not known

R LD augaumbsEh Curs <ig @@ eyl uasrs GMméEs CaudmGin ererpmd

@ B =2 ® Y >2
(©) %C <2 ) %C >1.2

(E) &ler Qgflweldene

136. In two way slabs, at corners where there is no discontinuity

(A) 100% Torsion steel is to be provided
B) 75% Torsion steel is td be provided
(ﬂ _No Torsion steel is to be provided
‘(D) 50% Torsion steel is to be provided -

(E) Answer not known

@meul uasuiled QgrrL_r'ru,r_b‘r_;) epaner @dons @)L
(A) 100% wos@sebA mwssiuL CauadT@ib

B) 75% wpsEssn siewwssiiuL CauamHim |

©€) wpsEssLA Smwss Cauamyufdme

D) 50% apmisEssne SiemnssiLL Calam@ib

(E) eferr Asfueiidraa

1
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137. Development length of a steel bar is denot'ed as

A LD
9 Ld

(C) FD

D) fd

(E) Answer not known

6@ S ullen Cowur® BLLb, @sarmed GhHéssruGSng
(A LD
B Ld
- (C). FD
D) fd
(E) e Qgsfueldena

138. The partial safety for materials (rm) for resistance corresponds to
yielding as per IS 800-2007 shall be

i 1.10

(B) 1.25
(©) 1.50

(D) 1.00
(E) Answer not known

IS 800-2007 -ér Ly e Qummear LGS sy smye

A) 1.10

B) 1.25

© 150

(D) 1.00

(E) &leo Qgfweldene
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139. The design load is given by

(A)

Characteristic load

M Characteristic load x Partial safety factor

©)
(D)

(E)

Characteristic load + Partial safety factor

Characteristic load / Partial safety factor

Answer not known

g ENFEHT HENLD CTETLIG)

A)
(B)
©
D)
(E)

LITEEnLD &HemLd

LTETenLD & X UGS SmiiL&smyest]
Umeiend &ew + LGS sriilssmyentl
LmETenLd &eWw [ UGS sl ssmrent]

cen QsMwelcrenew

140. The column is designed as short column, If the slenderness ratio is

(A)

«

©

(D)
(E)

less than 2

less than 12
greater than 2
greater than 12

Answer not known

R SIOET GnIHSTETTS auigeuamsEEGL Curg igear Cwale dégworarg

A)
(B)
©)
- D
(E)

2 5@ GdDeuns

12 38 @epeuns

2 5@ 2Hswrs

12 5@ <ifswns
aﬁ]am_‘Qg,rﬂuJaﬁlebmm |
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141.

142.

1

ADPC is

A)

(B

All Disaster Preparedness Centre
America Disaster Preparedness Centre

(Zf Asian Disaster Preparedness Centre

(D) All India Disaster Preparedness Centre
(E) Answer not known

ADPC aréug

(A) All Disaster Preparedness Centre

(B) - America Disaster Preparedness Centre
(C) Asian Disaster Preparedness Centre
(D) All India Disaster Preparedness Centre
(E) Mo Gsfwuelome

The method of scheduling which 1nvolves graphical representation of
jobs and time.

(A) Job Layout
(B) Work Breakdown Chart
- (C) Network analysis
(Bf Bar chart (or) Gantt chart
(E) Answer not known
- Ceuamarsar LHHID Crysden cuanrsamevL Lﬁlug‘,]@glg,gmg,mg o GTaTL_d8) e
efleré g eug
A) Caee seteuamwliy
B) Couea @g‘ﬂm eleT&sILLLD
(O auamergar uELUMLeY
D) unmit erssLLLD g Csarl eflarésliuLLb
(E) e Qsfweideana
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143. Liability number is expressed as

W

(B)

©

(D)

[No. of defectiveunits
| No. of units tested

| Total sample to be tested

:|X100

No. of defectiveunits

[ No. of units tested

:|><100

[ No. of units tested .

x 100-
Total sample ]

| No. of defectiveunits

]xlOO

(E) Answer not known

Qurgtiy erer @eveury Gavefliu@ssiLGEDS

@A)
®

©

D)

(E)

Qewiadipps i@@S6T ercimanfléans

Cendléasriul L ie@ erer

G®DUTHETET S GHaT6n erementsams

]xlOO

CerglssiuL. Gouaiigus QLDIT‘E;‘Q; wrdf

Gendssliul L sio@Gseien cramantlésans

:|x100

Qurgg wrHl

Gengeven Qeiiwtiul L Se@Gsefler aarafsms

]xlOO

Gopunherer s@safler cramantléms

alen Qg,nﬂu_laﬁlcbma)'

CESCE/2023

76

JxlOO

L



144. The amount of E.M.D. to be deposited by the tenderers is

145.

m

(A) 1% of estimated cost
W 2% of estimated cost
(C) 5% of estimated cost
(D) 10% of estimated cost
(E) Answer not known

QLarirger eped GLurdll Qeuwiue Ceuamgw @erbly @6 QgTams
(A)  wHurL Qseelld 1%

(B) wHUuGC L Qseeile 2%

(C) wHuA L Qswele 5%

D) wHuAcL Qsawelldr 10%

(E) oo Osfudlodme

The type of tender in which only one firm is invited to quote their rates
1s called

(A) Open Tender
(B) Limited Tender

w( Simple Tender

(D) Rate Contract
(E) Answer not known

REHeumsuUTar QUUBSD @eundlear epod @Cr e @gmmﬂLg,‘é,]@pg cdlenev

Herefleow Qumieug) eremug

(A)  Hops @uLBED

(B) amrupssiul L @uubshd
C)  gpop @uubsD

(D) s guups

(E) ofeni anﬂu_laﬁ;lei)mcu
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146. Critical Path Method requires
M Single time estimate

(B) Double time estimate
(C) Trible time estimate
(D) Four time estimate

(E) Answer not known

@ wéSHwwrer Qeudum o Spsar_suphled og Cgme ?
Q)  ewm Csr a;awré;e%@

B) @ Cor semss6

©)  wep Cor sauss®

D) pn&r@ Crry serss®H

(E) e&lenr Qsflwelivene

147 . The difference between the total float and free float 1s called

(A) Duration

M Interfering float
(C) Critical activity
(D) Zero float

(E) Answer not known

Qurgs Wgmeu wHmID @oeus Wsmaus@ Qe ulorear Ceupurp
A) sme ;91617@4 | | .

B) Ensddw Bgma

(C) wsAwwren Q&ﬁ.:e‘uurr@

D) ysmsHw Bsemeu
(E) oo Qsflwelcrena
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148.

149.

Workmen Compensation Act was enforced in the year

W 1923

(B) 1933

(C) 1936

(D) 1948 |

(E) Answer not known

an@mnmr‘rseﬁ QUi ® sl QewoduBSSIULL 60

(A) 1923
(B) 1933
(©) 1936
(D) 1948

(E) e Qsfualdame

Bar charts are suitable for
(( Minor works
- Major works
(C) Large projects
(D) Petty works

(E) Answer not known

Bar aflerésuiuiwrarg ergn@ LwatL@ssLILEEDS ?
A) adw Cauemeser

(B) | w&Hw Ceuemarger

€C) QuAlw Ceauanavser

(D) GLlg Caumaser

(E) oo Qsfweldene

79
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150. A detailed survey of the selected site of the proposed project is called
as . '

A Preliminary survey

~ (B) Reconnaissance survey
(C) Rough survey
(D) Field survey
(E) Answer not known
we@onfuiuiL SrLsdar Gsips@ssiuiL  sergder eifleurar iy
—— eTan SdP&ESLILHEDS
A) meemlyCu oyiiay
(B) wméyewiy ey
©) @8 oHoLTar syl
D) P ey (awud@esed piiay)
(E) oleor Qasflweiidena

151. A diagram of a Truss drawn to scale and marked with loads and support
reactions is known as

(A) Truss diagram
M Space diagram

(C) Vector diagram

(D) Load diagram

- (E) Answer not known .

SeraCsmiuigp IULIULL @ SIVéslgd fd deudu@iod gmiidlulles
erdireflansgdr HPID ellessdr GHESULILIGHBBESTL ASHES Quuwirr
(A) srwss (H weguLLD

(B) Qouef cuenguiL_id

(C) Qpdwenr cuenyLiLib

(D) | SO QU TLIL LD

(E) &Ne Qzfwelcrenaw

1
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152. 1° of twist of a shaft is equal to

i | ® 2

180 | 7
(C) 7 x180 (D) 7 + 180

(E) Answer not known

@ samger 1° apmisssd ———— Criqwen @b
' . 180
A = V , B ==
@A) =5 (B) —
(C) =x18 D) 7 +180

(E) e QsAweldene

radian.

'153. The neutral axis of a section is an axis, at which the bending stress is

1t

(A)  unity

(Bf Zero

(C) maximum

(D) infinity

(E) Answer not known

BB SiEfled gHUBL UMETe] SM&6| 6T6,
A) o

B 0 (yguwwn)

O <ifsursn

D) spsf
(E) &Me Qsfwelcrene

81
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154. In theory of simple bending, bending stress is inversely proportional

to the

(A) Breadth

(B) Distance of the point fiom the neutral axis
M Radius

(D) Strain

(E) Answer not known

eraflu euenate GCamliumiiger Uiy, euener sosa; Hais @sHE& Gbi wIHTE

NflssHd Siemubd

A) <sebd

(B) peHeoe é{ééﬂé&@ﬁ@l yerefluden gy
©€) <o

@ Sy

(E) ol Qzflwelicdrene

m
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155.

156.

The section modulus of hollow rectangular section is
«( BD? —bd? ®) B*D-b%d
' 6D 12D
BD? - bd?* B®D -b%d
o — D) ————=
© D | D) 1D
(E) Answer not khown
@@ Qeupm Gecucussder 9fey wWLH <y erg
. BD®-bd® | BD-b%
A) — B ———
A 6D B 5D
| BD? - bd? BD-b%d
© D | D) D
E) @Slmﬁ@g,nﬂumﬂd)@m
Moment of Inertia of a circular section about an axis perpendicular to
the section is
@A) rd3/16 B) =d?/32
< zdt/32 | D) 7d*/64
- (E) Answer not known ‘
@0 @l agelorar Yfeldar Hleawsder smand g oi&s REICEE T
@ mLer
@A) zd*f16 | (B) ~d®/32
(©) =d*/32 (D) =d*/64
(E) e QsAweldera
88 o ‘CESCE/2023
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157. For point loads on a cantilever beam, shear force diagram shows

(A) inclined straight lines

M horizontal straight lines

(C) inclined and horizontal straight lines
(D) parabolic curve

(E) Answer not known

Qm stangedaut speop B @@ ydael sowseErss, eflwr Gumid eamyuLLD
s (heug

(A)  emiups Coir Cam@ser

B) derwir Cpir Cam@ser |

(C) smips wHmbd Hevrwi L CriCsrhaear

(D) ujeumerw euameray

(E) e&ler Qsflweiicvene

'158. Two shafts, one solid and other hollow are made of the same materials
and are having same length and weight. The hollow shaft as compared to
solid shaft is
(A) Less strong
(B) Same strong

u@’ More strong
(D) Can’t be comparable
(E) Answer not known
Qran®h sam@sdr, @an SHamod wHOpreTm Q_dTef?meg.j. @Cr QurBETLSSTED
pangl. dmeuseflan Serb wHmb oL @Cr wrHfwrE. Seamo semhH LT
RUEGHWLCUNTE 2 drafLhp ST Terg) ‘
A)  sopps v wg
(B) &Gy eawllevoyenwig)
C)  =ds adamwymwg
D) @ulL wywrg
(E) el QAsflwelioama

1
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160.

mn

(4) N

(B) mm?2

W Nil

(D) N/mm? _

(E) Answer not known
SHilQer 0@

A N

B) .52

©O) qambome

(D) N/A..82

(E) oo Osflueidee
Strain in a direction
known as o
(A) Linear strain

(Bf Lateral strain
(C) © Volumetric strain

- D)

Shear strain

(E) Answer not known

at right angles to the direction of applied force is

vweaturl®  s&dlen  Hessg sflwrer  Caremmseiiey @@ Sy ear

S P&&LILI(H UG :
Q) CoAwe My

(B) ussaum @ Ay

(C) aroyQufs Hfy

D) ofist S

(E)

elen Qgfwelerenew

85

"CESCE/2023
[Turn over



161. In simply supported beam, fibres above Neutral axis are in

(A) Tension

(B) _Shear
Compression

(D) Torsion

(E) Answer-not known

2n Qoueos smdte phHoe 2EfhE Cole 2dem @mpsd GQanibe

2 L uhSsUU@LD
@A) oA

B) Qa®
(O smssw
D) vos&s

(E) oer Qsflwelicvanew

162. Eccentrically loaded column have to to designed for combined axial load
and

(A) Shear force
,@Y Bending moment
(C) Torsion
(D) Creep
(E) Answer not known
“mpenioLs uA@m@.l sU&GL grewmerg Covrg wHD ——————  GTar
@reTigHGLNs auigemWSSILIHE DS '
(A) Qeul (@ sew
(B) eumers@d sammid (1) Hmen
©) woss
(D) oafey
(E) oo Qzflweilevene

Ll
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' 163. What 1s the critical load (P) value of a column with one end fixed and
other end free?

L

A AP_JzzEI B P_4ﬂ'2EI
( ) - L2 ( ) - L2
272EI { ~2EI

© I? . , ) 4I*

- (E) Answer not known

QG giaflan @ woar Heouragrseb wHdnrm e Haaouldmogib
QméEw Qurg gear Ml yssd Hner (P) ereueueray?.

o*f

L|
A poZEl (@) poATEL
@ P== ®) P=="
2 2
©) P=2’;2EI D) P- ’;g
(E) oo Qsfweldeame
bt 87 CESCE/2023
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164. Distribution moment =
(A) Applied moment x carry over féctor
(B) Applied moment x stiffness factor
(3( Applied moment '>< distributiovn factor
(D) Applied moment x carry over moment

(E) Answer not known

udlibg sefls@n Hmuyamn =

(A) Qarpssuu@b Hmlilyaw X sLgd Qs srrenf
(B) Qsr@ssuu@b Hmuyew X allepliys sryenfll

(O Qarhssuu@n Hpiyew x udibs SieflEEh 5nq®'&ﬂ
D) QsrRssLLEL HEULmD X LS Cemaud Sy
(E) o&ev Qzsflwelcrene '

165. The rotational stiffness of a cantilever beam at its free end is _
[span of the beam is ‘L]

2ET
A 0 ' B I
S AEI 8EI
il D) 2=
o o
(E) Answer not known
em Qerhmams UL sLHnT Waaried spHél eleply ——————— G0
_ 2ET |
@) o o ®
4E] : 8EI
c — D) ===
(©) 7 | (D) —

(E) e Qsflweldena
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166. Propped Cantilever carrying url throughout its length, the prop

167.

reaction is
3 - 3

(A) ‘éw ‘ (B) Ew |
M %wl | | . D) %wl

(E) Answer not known

; fg@ WLH o sranedeai  gwwrs MAEHCuTAssILLL  s@LOW WP

DG ThHSFE Ded@ib GG SiF6m (L g6 erdlir efenar

3 3
(A) gw | (B) Ew
©) %wl | D) %wl

(E) oo Qsflweiicena
What is the prop reaction value at ‘A’ of the following cantilever beam
subjected to a point load ‘W’ at mid span?
W ,
! B

n

"2

NEENSNNN

L2 L2
5 ' 11.

A —W & —W
@) 16 16
5 15

C) —W » D) —W
© 48 : ( ) 48

(E) Answer not known : |
o Caangeeur Slled W u@Es eww yerellllld Qswdu@nd Gurg igdr prop
adi afleng ‘A’ uldd ereucuaray? ' ' '

W
A% ! ,[B
. d L2 f L2 !
5 ~ 11
A =W B) —W
A) 16 | (B) 16
5 15
) —W D) —W
© 8 | D) 18
(E) olen Qzflweldene
89 o ~ CESCE/2023
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168. Considering a hollow rectangular section with ‘B’ and ‘D’ as outer width
and thickness and ‘6’ and ‘d’ internal dimensions respectively, the load
can be eccentric, on either side of the geometrical axis, by an amount

equal to

<« BD® - bd® | ® BD® +bd’®
6D(BD - bd) 6D(BD + bd)
© bd3 - BD? bd? - BD?

© (D)
6D(bd — BD) 6D (bd + BD)

(E) Answer not known

Qeuefliiyp sisew ‘B’ womd ggwer ‘D’, whmibd 2 L Lyp ison ‘b’ whmid Siger
‘d’ Qeran @@ edefpp Qsdeus Qa( wsd Osrar_ g siafmar

aTOsgsCsTa@TLTD, Siger egelwd sfdar @@BUPWPL —— Tl
@wwl Yphéedl uEpTs @HEELD. _
BD® - bd?® BD? +bd®
(A) (B) ‘
6D(BD - bd) " 6D(BD +bd)
bd® - BD? bd®-BD®
(©) _ (D)
_ 6D(bd — BD) 6D (bd + BD)

(E) e Qsflweldmana

169. A fixed beam loaded transversely is statically in determinate by

(A) 3degree 6 2 degree

- (C) 1 degree (D) 4 degree
(E) Answer not known
foew &iLgded uemarag GoHssTs Qeuou@bCUIg @igar  LdreRlud
Cayenwufen wdiiy

(A 344 B) 2 xwaf
©) 14qéM (D) 4 wéM
(E) e Qsflweldana

1
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170. The maximum deflection in cantilever beam of span ‘7’ m and loading at

free end 1s ‘W’ kN.

WZS
2EI

s w

3EI

(A)

w3

(€) 1Bl

wiz

(D) SEL

(E) Ahswer not known

@@' sremecdeuis spop Serd I 8 @B uehetﬁ g W kN eowu g saf

wpoanuie &o&Ewéung ghubid aé\a;uf_& Aesreang)
Q) o7

B) -

© =

D) =

(E) oferr Qsflucidee

pam 91 CESCE/2023
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171. The most commonly used material for damp proofing is

(‘( Bitumen

(B) Concrete
(C) Tiles
(D) Paints

(E) Answer not known

b Q&Geums sHLUUSHEG Ws Qurgeurs LwearLmBb Cummer

(A) g
B) shereny
©) ¢6
D) Qpdy

(E) @S]mg@gnﬂuéﬁ]cb&)sﬁ

172. Which paints are generally used for metal and wood works?
(A) Oil paints
(Bf Enamel paints
(C) Distempers
(D) Emulsions paints

(E) Answer not known

2 Goors wHmd vy Caumaiiurhsaild QurgaTs LWETLESSLILHL CuUTETLILEE
T ?

A)  eamQemrs ma&m&rugsca
B) saflo auameriiyss

(©)  weipgduie

(D)  uméw euareTL L&

E) Mo Gsfueldvme

1
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173. The optimum number of revolutions over which concrete is required to
be mixed in a mixer machine is ' ' |

(A) 10
20

(C) 50

(D) 100

(E) Answer not known

shsrTerawu soly abfisded @bsare| 2.swb sHH &HO CeudtHib

@A) 10
(B) 20
(C) 50
(D) 100

(E) fev Gg,ﬁlm.eﬁlsbmcu

174. rI‘.he compaction factor test of cement concrete determines its
(A) Strength | |
(B) Porosity
(C) Degree of compaction under loads

@ Workability
(E) Answer not known

| asQasrraﬁquSldsr sm&s sryall Coensmen @saman Siorallssams)
@)  ealanwo .
(B) meweilu @enQaeuefl
(C) <@wép &@é;as Y
| D) CamwsdHer
(E) &lenr Qzfweidena

93 ‘ CESCE/2023
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175. When a piece of timber has spirally distorted along its length, It is

known as
(A) Cup
(B) Warp
Twist
(D) Split

(E) Answer not known

@@ wisg@ymar fasHneE EnssTE G@PULS et

A) su

B) eummu

©) wossse
D) Yfgse

(E) oo QsAwefdvencw |

176. The glass which is used for glazing of windows, door and for making
ordinary glassware.’ -

Uf Soda-lime glass

(B) Bonemian glass
(C) Pyrex glass

(D) Common glass

(E) Answer not known
ThS CUMEG SETEMITIQEHET, FTSTT6RT a;ammmora;cﬁ LHDID é;geu, LTSS,
Uweru &g

(A) Gesrim-eew sament.
B) Qurafflwer seamerTmig
(C) eurse samerrmyg

D) Qurgeuner sarearmyg
(E) &feo Qsflueideama

1
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177. Specific gravity of sand is

(A)

2.6

@ 2.65

©)
D)
(E)

2.8
2.75

Answer not known

Wered)eir SIL TS eret

(A)
(B)
©)
(D)
(E)

2.6

2.65

2.8

2.75

elen Qs Mwelevrena

178. A good quality stone absorbs water less than

20%

Answer not known

@@ sywrer soedler B 2 Mepad seareurarg @sH@& SC @Mmss CeuamBib

(A)

B)

(©)
- (D)

(E)

5%

10%

15% _ o

20% : - . e
e Ggfluaidveana | g
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179. Gypsum is added in the manufacture of Portland cement in order to

(A) Shorten the setting time .
"Lengthen the setting time

(C) Decrease the burning temperature

(D) Decrease the grinding time

(E) Anéwer not known

Cumir_eomesri_ @Qmés‘m'_ swuriude Qussang GCeriugmed
&) Bue Cprsms GEPILSHS

B) Qoo Cprsms Afsu0ss

(C) eof Qautiufleoau G®DLUILSHE

D) s@rsed Crrsms GopPUUSHS

(E) e&len Qsflwelevena -

180. Initial setting of cement is caused due to

(A) Tri-calcium silicate

(B) " Di-calcium silicate

M Tri-calcium aluminate

(D) Tetra calcium alumino ferrite
(E) Answer not known

SHQAweamger <pTibu sewiiy Crrb Werapauaeaupild ghuhEng!
A) Leysredlun ACsL
B eL-srofun A
N(0) La)ly;asrrcbeflmm <SG
(D) Qui_gm 5ﬂé'oeﬂu_n.b B Cerm QuenyL
(E) e&ler Qgfweildene
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181. Who is responsible for the construction and mamtenance of the Express
Highways?
(A) State Government
M Central Government
(C) Federal Government
(D) National Government

(E). Answer not known

enryey Qp@@&nmwasm SADSF Sigen LgToflmud flieudllug
A) ovrhe cem& |

(B) wsdw sy

©O) sl Auys
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182. Compaction of a soil is measured in terms of:

M Dry densn:y

Specific gravity
| (C) Compressibility
(D) Permeability

(E) Answer not known
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183. Atterberg limits and indices determines

M the cdnsistency and plastic properties of fine soils
(B) the grain size distribution
(C) the index propertieé of soil
(D) the characteristics of soil |

(E) Answer not known
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184. In soil mechanics, grain size classification is generally useful for
(A) Silt-lay materials |
M Coarse-grained soils
(C) Fine-grained soils
(D) Highly organic soils

(E) Answer not known
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'185. Shear strength S=C + o tanég. Where o is

(A) Shear stress
(B) Tangential stress
(C) Buckling stress

-@f Normal stress

(E) Answer not known

adwfi awellewws S =C + 0 tang, o aaug
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186. Breast walls also necessary in Hill roads, in such condition that,

«( earth has to be retained from slippage
‘ (B) for drainage purpose

(C) to provide pedestrian crossing

(D) to guide the vehicle l

(E) Answer not kn}own
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187. Advantage of traffic signal is
(A) Rear-end collision may increase
(B) Improper design, leads to violations of control system
(C) Failure of signal, confuse the road users
M They provide orderly movement of traffic
(E) Answer not known
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188. The gradual change in direction on the road is called as

(A) road gradient

M road curve

(C) road margin
(D) cross fall
(E) Answer not known
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189. The I.R.C. loading is based on the heavier type of commercial
vehicle which is considered like to run on Indian roads.

(A) Class AA
M Class A
(C) Class B

(D) Class70R
(E) Answer not known

LR.C. THHSE Gresirn_lg,j~ Qb srEmwEmW @més@@ug' Guméd
SMHSLUELD sarear cuafls cunrgarser g liLamLuild Simwbgiererg

(A) Class AA

(B) ClassA

(C) ClassB

(D) Class T0R
(E) e&enr Qsfwaidvene

190. Stone walls with vertical back and face batter, constructed on the inner
side of road to support the slopes of the hill '

M Breast wall

(B) Retaining wall
(C) Abutment
D) - Pier

(E) Answer not known
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191. Slip of a reciprocatihg pump is defined as the

(A)

(B)

ratio of the actual discharge to the theoretical discharge

sum of the actual discharge and the theoretical discharge

«Cf difference of theoretical discharge and actual discharge

(D) product of theo’retical discharge and the actﬁail discha;'ge

(E) Answer not known

erdlifeflens Qamam LA FuDIFH GTETLS) @dJGUITQj Gl&rrd)c»ﬂu@éﬂmg.
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(B)
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(E)
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192. The discharge through a Trapezoidal Channel is maximum when

m half of top width = sloping side

(B)
©)
(D)
(E)

Top width = half of sloping side
Top width = 1.5 x sloping side
Top width = 2 x sloping side

Answer not known

BIHS]T srdeaumuien auflurs Geogin Sflear 2 & Asmerarerey arLIQUTWE @ BESD ?
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flenL OsMuedea

193, Darcy’s law is valid only for

1t

(A)

Steady flow

'#Bf Laminar flow

(©
(D)

Turbulent flow

Non-uniform flow

(E) Answer not known

Lmirele aﬁl,ﬁu_lrrdrg ruQuTg QummBSID ?
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194. The coefficient of discharge of external mouthpiece is

(A)
(B)

0.62
0.707

< 0855

(D)

0.375

(E) * Answer not known

Qeuafliiym 2agy@eiien QeuefCubmd @Gamraid

(A)
(B)
(©)
(D)
(E)

0.62

0.707

0.855

0.375

enL Qs flweldrenew

195. The discharge throﬁgh a small orifice is given by

"(A{\Cd-a\/Qgiﬂ

(B)
©
(D)

C,.a+2g. H
Cd.a X 2g ‘\/ﬁ

Cd' »\/Clng

(E) Answer not known

Adlw sppiuurensufer QeuellCupmid Smeir

(A)
(B)
(©)
(D)
-(E)

Cd.a —\fng
Cd.a —\/5 H
Cd.a X 2g '\/ﬁ

Cd‘ —\/ang
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196. The loss of head due to sudden expansion of a pipe is given by

Vi -Vy
28

A) hy=

(B) hy =
o 1, --V)
28

Vg -V
2g

D) hy=
(E) Answer not known

@m Genu FHelrer il bz QEmbsTed g QULSSHD gHuL 2wy

@ulurerg)
V2 -V2
A) hy=-1—"2
( )_ L™= 9g
0.5V
B h; = 1
(B) b oz

(C) hL — (Vl — Vz)z

) V2__v2~
B =Ye Vi
D) b~y o2
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| 197.

198.
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The depth of centre of pressure of a vertical immersed surface from free
surface of liquid is
i L.x ® Bhw
4h h
IGh - Ah  —
GO —+h D) —+nh
© =+ ROECE

(E) Answer not known

BirogSeir Gmmuqulﬁle&@g@ Q&rsj@jg;g,rra; eppdl o arer g,mg,@m SI(PES @WILD
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(E) e Osflueldame

The ‘point at which the total pressure on an 1mmersed surface acts is
known as

(A) Centre of gravity

(B) Centre of depth

(# Centre of pressure

(D) Centre of immersed surface

(E) - Answer not known
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199. If the Reynold number is more than 4000, the flow is

A

Laminar flow

(B‘r Turbulent flow

©)
(D)

Steady flow
Compressible flow

(E) Answer not known

QenmédL_ eTair 40008 AL SHHLIS QHHSTH 1S

(A)
(B)
©
D)
(E)
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200. Dynamic viscosity (M) has the dimension as

Ay MLT?
& MLiT!
(C) ML'T?
D) M1lLlrT!
(E) Answer not known
Purs u}r@mm (M) Qén Lframd TS
(A MLT?
B ML'T?
©) MI'T?
D) Ml
- (B) ferL Qsfwedoame
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10.
11.

Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

You will be supplied with this question booklet 15 minutes prior to the commencement of the examination.

This question booklet contains 200 questions. Before answering the questions, you shall check whether
all the questions are printed serially and ensure that there are no blank pages in the question booklet. If
any defect is noticed in the question booklet, it shall be reported to the invigilator within the
first 10 minutes and get it replaced with a complete question booklet. If the defect is reported
after the commencement of the examination, it will not be replaced.

Answer all the questions. All the questions carry equal marks. 4

You must write your register number in the space provided on the top right side of this page. Do not
write anything else on the question booklet. :

An answer sheet will be supplied to you separately by the room invigilator to shade the answers.
Instructions regarding filling of answers etc.. which are to be followed mandatorily, are provided in the
answer sheet and in the memorandum of admission (Hall Ticket).

You shall write and shade your question booklet number in the space provided on page one of the
answer sheet with BLACK INK BALL POINT PEN. If you do not shade correctly or fail to shade the
question booklet number, your answer sheet will be invalidated.

Each question comprises of five responses (answers) : ie. (A), B), (C), (D) and (E). You have to select
ONLY ONE correct answer from (A) or (B) or (C) or (D) and shade the same in your answer sheet.
If you feel that there are more than one correct answer, shade the one which you consider the best.
If you do not know the answer, you have to mandatorily shade (E). In any case, choose ONLY
ONE answer for each question. If you shade more than one answer for a question, it will be treated as a
wrong answer even if one of the given answers happens to be correct.

You should not remove or tear off any sheet from this question booklet. You are not allowed to take this
question booklet and the answer sheet out of the examination room during the time of the examination.
After the examination, you must hand over your answer sheet to the invigilator. You are allowed to
take the question booklet with you only after the examination is over.

You should not make any marking in the question booklet except in the sheets before the
last page of the question booklet, which can be used for rough work. This should be strictly
adhered to. :

In all matters, the English version is final. _

Failure to comply with any of the above instructions will render you liable for such action as the '
Commission may decide at their discretion.
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